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AHAERT 99 118 115 233 IBTHN 11,990 11,890| 13,147| 25,037|#MET =T H 146 144 126 270| F RAHRT 522 654 725 1,379
ARYHT 220 205 218 423 FEIT=TH 134 136 123 259 KHEHIX 3,065  3,964] 4,088 8,052
JEBT 357 334 382 716|f5 EHT 234 275 281 556(FxMTIU T H 68 50 54 104
B 536 569 596| 1, 165|fRiFENT 3,483 3,891 3,910 7,801 AHFHHX 9,904 10,813 10,167| 20, 980| Kl AT 328 454 475 929
& HHT 307 312 337 649| FrifHT 198 225 245 470 A ET 194 301 315 616
FE M 278 259 276 5357 FHIT 518 535 564 1, 099 Hr T 1,012 1, 287 1, 340 2, 62751 LMT— T H 658 827 948 1,775
)1 ET 117 128 136 264(iTART 3,227 3,549 3,644 7, 193|8r H AT 355 439 464 903[ kI LIET — T H 228 281 302 583
KAGHT 652 637 625 1, 262| HRAT 3,029 3,470| 3,608 7, 078(H mT 1,674 1,876 2,023 3, 899 AR/ JN AT 636 817 855 1,672
$RmT 17 12 20 32| T 558 640 648 1, 288| H My 874|  1,091| 1,099 2, 190| L4 mT 1,381 1,803  1,937| 3,740
FSHT 60 54 66 120| B mT 1,245 1,502| 1,523 3,025 #HremRHX 3,915  4,693] 4,926| 9,619 F/\iEHX 3,425 4,483  4,832| 9,315
b= T 220 254 293 547| KARHT 157 166 176 342
drisET 68 58 66 124| A YERT 338 413 466 879| H-EFHT 2,573 2,899 3,038 5, 937|4 EET 443 497 561 1,058
JUREHT 123 106 130 236| HERNT—T H 338 420 448 868| A/ \AHT 1,009 1,226 1,168 2, 394|ZEIGHT 268 368 371 739
HHET 156 118 111 229\ HHIRET T H 381 468 435 903|/INJ\AHT 1,160| 1,447 1,430 2,877|&/%H MET 747 858 893 1,751
TREHT 79 61 81 42| ERIT =T H 420 492 497 989| IEA@L=FHT 385 478 527 1, 005 HH BLmT 189 245 245 490
FFIHET—T H 157 144 176 320( HEIRETIUT H 279 379 403 782|[FEETE —T H 45 46 17 63| Hmy 977 1,256 1,326 2,582
FRIHET T H 112 117 116 233  FRMIX 14,405| 16,425 16,848| 33, 273|REMTE T H 97 97 83 180/ & T 580 776 793| 1,569
FFAIMAT =T H 127 139 146 285 fErT—TH 232 216 257 473 A X 3,204|  4,000] 4,189 8, 189
FRTHETY T H 141 176 180 356| 1 JFHT 3,514 4,129 4,316 8, 445|[=IT =T H 36 36 39 75
A FalT 453 466 528 994 Jy T —T H 262 301 327 628|HEAT =T H 14 14 17 31| AR EFIT 5,278|  6,353| 6,496 12,849
=F: L 20 15 23 38| TR T H 568 663 727 1, 390|RERATIUT H 101 112 110 222 JFHT 142 184 223 407
iy 168 165 190 355 T Rl =T H 825 895 968 1, 863|ULfLMT 1,762 2,150 2,252 4,402 AEEFHX 5,420|  6,537| 6,719 13,256
=R 47 31 48 79| HT 1,782 1,823 2,005 3,828] HJIHX 7,414| 8,721 8,938 17,659
T 181 162 193 355| FEpfHAT 1, 382 1,570| 1,614| 3,184 RIRHT 398 518 565 1,083
RILHT 479 514 546 1, 060|ZLFHT 182 199 220 419( 4 FHmT 469 534 610 1, 1445t HHET 479 559 595/ 1,154
(=) 38 34 36 70|\ FHRHET—TH 471 550 500| 1, 050| gy 2,113|  2,562| 2,500 5, 062| %M 537 688 639 1,327
fEFHET 88 74 93 167[ )\ TRIT =T H 351 381 411 792 N BT 210 276 306 582|175 EHT 122 157 144 301
HEAHT 45 40 48 88|\ FHRET=TH 421 479 515 994 & 5T 1,025 1,267 1,360 2, 627|#KEHT 506 724 731 1, 455
FHET 222 208 222 430[ N FARETIY T B 369 442 493 935 | fIRAT 480 601 613 1,214 5 EHT 346 432 403 835
f=Lg 173 187 190 377 R X 10,127| 11,432 12,096| 23, 528|HTE=HT 368 400 470 870t 4 HT 462 612 617| 1,229
T bET 575 622 662| 1,284 J\ T 1,994 2,521 2,593 5,114 I B 2,850  3,690| 3,694 7,384
FEASHT 29 24 28 52| b EFmy 2,167| 2,595  2,652| 5, 247|F5 HET 119 165 170 335
ST 530 523 598| 1, 121|{&=BFERT 35 40 45 85 I\ H1X 6,778  8,326| 8,622 16,948| LiHT 236 345 319 664
FRHT 26 29 32 61 - EmT 3,319 3,798 3,684 7,482 TERETHT 128 189 190 379
LT 171 162 172 334| AL AERT 351 419 473 892| b8 fi] W] 1,151 1,452| 1,473  2,925| F 75 HHET 139 202 195 397
JEET 196 171 218 389| 22HT 621 626 635  1,261| FE-fHET 1,786 2,153  2,202| 4, 355| FiEHT 355 488 457 945
AT 369 367 396 763 TP HT 1,093 1,348  1,353| 2, 701 kT 790 976/  1,007| 1, 983|H T 269 422 405 827
R AT 41 36 43 79| 23T 1,227 1,620 1,628 3, 248|dt/AfRHT 415 491 550 1, 041| P AEFHT 363 413 377 790
AT 1,595 1,664 1,824| 3, 488| T JEHT 920|  1,160| 1,138 2,298| X 4,142|  5,072| 5,232 10, 304|/\iE/FHT 288 412 443 855
fi FE T 218 222 252 474\ Hr1% pAWT 410 492 488 980 ) | 1 (X 1,778 2,471| 2,386 4,857
izt 120 129 148 277\ ERT— T H 496 587 562 1, 149|7HT 464 578 577 1,155
F T 158 143 157 300 BT Z T H 1, 421 1,578 1,836 3, 414|45HuHT 408 542 520 1, 062| A AIMT =/ £ 490 674 684 1,358
‘= IehT 199 182 250 432|HERT =T H 591 688 750 1, 438|ALHIHT 151 213 209 422| B TAIRTHE 429 591 594 1,185
Amy 191 165 201 366| HERTIU T H 554 678 681 1, 359|417 /10T 127 177 192 369| B HET KA 169 250 253 503
JEAHERET 59 51 31 82 MY 855 984| 1,002 1, 986|111 1,111 1, 462 1,539 3, 001 [ ArpHIHT K 118 171 171 342
A1) 327 348 418 766|Fi1HH £ H T 552 593 555 1, 148|FE MY 346 445 477 922 A AINT) 11 357 455 482 937
)1y 233 193 268 461| fEEFHIX 14,612 17,206| 17,482| 34, 688|%sRHT 426 555 567| 1,122 ATAHX 1,563 2,141 2,184 4,325
1L FHET 115 110 113 223 Felgmy 221 296 308 604
S1) 89 84 98 182| b/l sy 757 894 945 1,839 EX 3,254  4,268] 4,389 8, 657|SEARHTPEHR 708 943|  1,007| 1,950
Pu > T 41 47 50 97| F/NtgmT 445 579 642| 1,221 FESRHT & B 83 111 128 239
el 50 61 57 118 kA my 3,051 3,160 2,731 5, 891| ERJEAT 1,083 1, 302 1, 340 2, 642| FEHRHTHA 2 IR 340 232 209 441
G mT 89 93 81 174 T/ BHT 2,107 2,326 2,172 4, 498|175 RAHHT 269 389 402 ENER P S 825 1,170 1,194 2,364
JHIAERT 232 239 265 504| T/ gHT 1,512 1,617 1,558 3, 175 L&iriT 599 826 819 1, 645 FEHRMT HH = 391 548 565 1,113
FEHAHT 426 356 437 T93| HUAHHET 1, 404 1,640 1,612 3, 252 FRJFHAT 396 542 552 1, 094| FARRT F2 1,122 1, 482 1,577 3, 059
i FH T 171 172 161 333 FkIT— T H 280 267 204 471 FPOREET 196 251 250 501 FEAHT 2 675 940 979 1,919
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M [ 328 521 516  1,037| & 0T 1L 174 288 274 562
FEHRMT 200 300 306 606 5 HMTAYD 462 647 622 1, 269
FEPRETFT A (L 139 198 214 412| E AT 278 362 374 736
FEHRMT )1 402 556 596 1, 152| % FHmT 475 705 663 1,368
FEYRIT P 6 5 10 15[ & HHT % H 409 564 606/ 1,170
FEHRMTAAAIR 772 1,116 1,139 2, 255| R HMTL A 99 153 156 309
FEGRET A i 1, 456 1,929 2,013 3, 942| & HIT 32 47 55 102
PR HE X 7,447| 10,051 10,453| 20, 504| & HET kR 282 405 428 833
EEaalp: 209 202 244 446
Sl ET 3,157 4,136 4,302 8, 438|FHHETHA 39 64 59 123
paislag 1, 397 1,767 1,905 3, 672] 5 FHHT IR 13 13 18 31
5| FE T 412 566 615 1, 181| H T L L B 359 529 549 1,078
3=t 1) 133 190 201 391| FHFHETEHEIR 41 61 75 136
T faf v ] 224 251 254 505 & H-HT 1 117 178 166 344
77K T 72 113 109 222| EHHTH S 132 215 207 422
% JE[RIET 63 99 106 205| 5 HET/NER 320 447 475 922
B S HT 172 266 268 534 & T EAE 105 170 187 357
V5[ 5y HT 209 313 317 630 & HHT I 167 234 228 462
b Iy 314 393 364 757\ & FHHT /N 200 303 305 608
T e AT 2,824  3,774| 3,704 7,478|FE TS T 518 740 720 1,460
AT 1, 055 1,343 1,351 2, 694 EHRTRI R — T H 317 409 435 844
=AY 642 897 916 1, 813| MG T H 343 446 475 921
R AT 1,305/ 1,635 1,588| 3, 223| & FHETEEEAE =T H 227 317 309 626
[iZ1=1a) 1, 065 1,399 1,346| 2, 745|575 HEHT 1% 292 445 446 891
rh ELET 389 508 551 1, 059) & H-HT T B 93 138 145 283
PR T 557 757 777 1, 534| & FEMT L BLSE 145 205 200 405
FEHET 481 621 685 1, 306| R AT M 60 97 91 188
RER X 14,471 19,028 19,359 38,387 #HfHX 9,004 12,526| 12,787 25,313
iy 5,477 6,302| 6,455 12,757
T b X 5,477| 6,302 6,455 12,757
R T 1,163 1,604 1,700( 3,304
rh = AT 986 960 1,174| 2,134
= HET 456 649 641 1, 290
B4 LT 120 72 101 173
R4 IHIRT 49 47 69 116
R ERT 335 518 543 1,061
LT 859| 1,160/ 1,226| 2,386
o L LT 653 920 904 1,824
- HLRRT 956/  1,317| 1,394 2,711
AT 846| 1,187 1,197 2,384
e T 675 943 980 1,923
FaHT 170 227 250 477
+- 3T 196 303 277 580
B PRHT 333 503 490 993
=Y FRET 107 143 146 289
[URLa) 118 167 174 341
R4 X 8,022 10,720/ 11,266 21,986
E R 631 805 829 1,634
IR E IR 1,168 1,433] 1,501 2,934
E R RAR 217 325 333 658
IR RAR 942 1, 361 1,393 2,754
2 HEET/M 138 218 219 437 w A E 152, 267 184, 759| 190, 259| 375,018




